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������  B1. RISC-�������� 
 
����������	� RISC-
����
��� 
� �������	�� �����, �� ���	� 
��
����� ���	� �� (Reduced Instruction 

Set Computer), ���	 ��������� ���� ��
	������. �� ����� ��� ���
�	�� ���������	� 
� �������� 
�
������ �����! �
������� 
� 
��� 	�� ��������� (64-��	��� ������
���� 
���������): A, B � C � 

�����	� 	
������: 

- �
��� �	 ����
	��	� A � B ���� �� ��������� 
	����
		� 
� 
 1. ������ �
������ �� ���������� 
 
���	� �� ����
	���, ��� � ���	� 
� 
������, 	. �. ����� �
������	� A � B; 

- ��� 
���������	� �� ����
	�� A ���� �� 
� ������ 
���������	� �� ����
	�� B, ��	� 
��������	� 
�� B �� 
� 
������. ���� �
������ �� ���������� 
��
	� 
 +; 

- ����
	��	� A � B ����	 �� ��
���	 
���������	� �� ������ � ������, � A ���� �� ��
��� � 

���������	� �� C. ���� ���
	��� �� ���������� 
 = ����� ���
	����	� �
������. �. �. ����� �
������	� 
A=B, B=A � A=C. !����	 �
����� 
�� 	��� �
������ ��
��� 
	����
		� �� ��
���, ��
���	 �� 
� 
������; 

- ��� ���
	������ �� �����, ���	� ��
���� 
�
 
��������� �� 
���������	� �� B 
 	��� �� C. 
�
������	� �� ���������� 
 ?. ����	� �� ������ ��
���� (��� 
���������) �� 
� ��
������ 
��� ��� 
�� 

�������	� 
���������	� �� B � 
	���� 
�-����� �	 	��� �� C. "���	 �� ������ �� ���������� 
 
��
	������	� LOOP, 
�� ���	� �
��������	� ����
����� 
� 
������ ��� ������	� �� ������, ����	� 
�	���� 
� 
���� 
�������	�. #�$%&�$' – ����� �� ����	 �� 
� �����	 – �������� 
�
	���� ������! 
(��
�������	� �� 	��� 
����
�� 
� )������ 
 �� 
����� �	 ���� � ���� 
�����	��, �������	���� 


������ � C, � ���� �� ���� 
�����	��, �������	���� ������ � A. (�� �������	� � 
��
������� ����
	�� 
A ��	���	���� 
� ������, � � B ��� 
	����
	 1. #
��� ��
	������ �� ��
�
���� �� ��� ���. '	� 	�� 

������ �� 
��
�������: 
1. (��
������� �� ����
������ 
�� ��
��	� 6, ������
��� �	 

���������	� �� C: 

A 
A 
� 
� 
� 
A 

2. (��
������� �� �	������� �� 
����	� ��
�� n (� C 
� 
����� n): 

 
A=C 
B=A 
+ 
+ 

3. (��
�������, ���	� ������ 

���	� �� �
	�
	����	� ��
�� �	 
1 �� n (� C 
� 
����� n): 

A=B 
? 
B 
+ 
LOOP

�
���
��� 
	�
�	�����, ������� ��, 
� �� ���
����
���, �	��	 ������� ��	����
��� ������.  
���
�� �������� �, �� 
����	� 
��
�������, ��
�����, ��� 
�����	� ���������	�� (� 
 
�-����� ���� 
������): 

B 
B 
+ 
+ 

# ������	��	� 
� ��
�������� � �����	� ��� 
� ��������	� 
�
 
���	� �	 ������	�	� �� 

�
������	���� �
	�
	���� ��
�� � �� 	�����	 )������, ���	� �� ������	 	��� 
���. * � 
� ������ �� 

����	� ��
�� �� ��
�
���� �� 
������� RISC, ���	� �� �������� �
	�
	���� ��
�� n 
������ �����	� 

��
������� �� ����� RISC-
����
��. (�� � �� � ����
	�� C �� � ��
��	� n, � ������ � A 	����� �� 
� 

����� ��
��	� n2+(n+1)2. & 	�� ��	� 
�
�� �� 
��
�
��	� 
�������	� 
��
�������, 
���
���	�	� 	� �� 
���	 ������� �� � ��-���!� "��# ������-��
	������. 

�	 
	�����	��� � �� 
� ������� ���� ��� 
 �
	�
	����	� ��
�� n (1 + n + 10000). ,�
���	� �� 

	�����	��� �� ��: 

- ��� 1: ���� ������ m, ���	� #���	� RISC-
��
������� 
������; 
- �� �
	�����	� m ���� ��
���	� ���� �	 ���-��
�	� �������� �	 #�
 RISC-
��
������� �� 

����
������ �� n2+(n+1)2 – 
� ���� ��
	������ �� ���, 
�
������	����, ���	� �� 
� ������� � 
��
������. 

 



������ 
 
$%�� 
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��%�� 
8 
? 
B 
+ 
+ 
+ 
+ 
+ 
LOOP 
 
 
������  B2. ������� 
 

# ���� ������� ���  N ����� ( 5 <= N <= 10000 ), ��	� �������	� 
� ���������� 
 ��
��	� �	 1 �� N. 
����� �	 	�  
� 
������� �����	�� 
 ��
�	�, ��	� �	 �
��� ���� ������	 ���
���� 
� 4 ����&�'& (�����. 
#
��� ��
� � ���
�
���� � � ����
	�� ���
	�����	� ����� �������	�, ���	� 	� 
������ �����	��. #
��� ��� 
�����, ����� ���	� ��� ��
�, �	
	��	 ������� �� 10 �&������� ���� �	 ����. %���� �
��� ��� ����� � 
�������	� ��� 
�	. 

 „�	��������” �� �������� �
���� �������, ���	� 
� ������	 �� ��������� ���
	����� �	 

	�����	�, ������ ��-���)�� �	 � ������	�� (1 <= � <=66). ��
���	� 
������� CAPITAL, ���	� ������ 
���� �� „�	��������	�” ������� 
� �������� 
�	�� ����� � 
	����
	 �� �. 

# ����	� ����� 
� ��	�	 �	 
	�����	��� � ��. �� 
���� ��� 
	�� N – ���� �� �������	� � �������	�. 
�	�����	� ������ � ���� 
 ����� 1. �� �	���� ��� 
� ������ ��
��	� � – ���	���� �� „�	��������
	”. 
������	 ������ �	 	����� ��
�� � B C, ���	� ������	 ������ ����� ��� �����. � � B 
� ������	� �� 
�������	�, � C � �������	� �� �����	��	� ��
� ����� 	�  � ������	��. # ����	� ����� ��������	 
 
	�����	� 0 0 0. 

�� 
	�����	��� �� �� ������	� ���� ����
	���� ��
�� – ���� �� ��������	� „�	��������” �������. 
 

������ 
 
$%�� 
8      
65 
1 2 80 
1 3 20 
5 3 30 
5 2 10 
2 4 20 
7 6 10 
1 6 65 
8 1 70 
0 0 0  

 
 
��%�� 
3 

 
 



 
������  B3. ��*�+��� �� 
������ 
 

,��	�� 
	���� 
 N 
	�
��� (2 <= N <= 100) ���� ��� 	���� �� )������. (� ����� �� �����
	������ 
�� ������� ���� ������ ����	 �� 
	�
���	� �� ���� ������� �� K (1 <= K <= N) 
����� �
	�	���
�� 

����������. (����� 
���	� 
���������� ���� ��������� �� ����	���	� 
� 
	����	� �� 
���	 ���	��	� 
������� � ����
	�����	 ����� �� 
� �������� ������
	��	� 
	�
��� � �� 
� ������ ���	�, 	��� �� ��� ��� 

����� 
�
���� 
	�
��� �� 
� 
����	 � ����. ��
���	� 
������� STAIRS, ���	� �
������ ���������	� 
������
	�� ���	�, ���� ����� �� 
��������	� �����
	������. 
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# ����	� ����� 
� ��	�	 �	 
	�����	��� � ��. �� 
���� ��� 
� N � K – ���� 
	�
���, ���	� 

��� 
����������� 
	����	�, � ���� 
	�
���, ���	� 	����� �� ��� 
��� �����
	������	�. ������	 N 
���� �	 ������ 
�����	���� ��
��, ��������� 
 ��	����� – ��
����� � ��������� �� 
������	� 

	�
��� � ������	�� (������	� �� 
	����	� � 
�
	����� – �� ����	� �� ������	� �� 
���
�������, 
�� 	��� � ���� �������� 
	����).  

�� 
	�����	��� �� �� ������	� ���� ��
��, ���������� 
 	����
	 �� 	��	�� ���� – 
���������	� ������
	�� ���	�, ���	� � ���� ����� �� ��
������� �� ������	�, � ������	�� 
������	�� (��
������, �� ����������� 
	����	� ��	� �������� ����	) 

 
������ 
 
$%�� 
7 6      
0.3 2  
1.1 4 
0.5 1 
0.9 3 
0.9 3 
0.9 4 
1  2 
 

 
 
��%�� 
0.900 
 


